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1)

Insert the correct arithmetic operator symbol.

a) 11 5=055 b)22 22=1 c)43 31 =12

d) 90 63 = 5670 e)37 37=1 f) 69 20 =49

g) 87 67 =154 h)40 36 =4 i) b8 42 =16

j) 99 56 =115

2)

Insert the correct arithmetic operator symbol.

a) 21  7=28 b)14 6=38 c)11 11 =22 d) 31 4=27

¢)33 30 =63 £33 9=24 g) 11 4=7 h) 33 36 = 69
)37 14=23  §)19 14=5
3)

Insert the correct arithmetic operator symbol.

a) 75 5="70 b) 73 36 =37 )90 33=57
d)76 65 =141 e) 59 62 = 3658 £) 77 43 =34
g) 92 11 =103 h)36 28=28 )45 29 =16 j)45 37 =38

4)

Insert the correct arithmetic operator symbol.

a)7 2=14 b)8  6=14 )6 3=2 )8 2=4

)5 2=3 £8 4=4 g3 3= D)9 9=8l
N5 2=7 )6 6=36
Good Luck!
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